
11�04�07 http://www.freenetpages.co.uk/hp/alan.gauld/spanish/tutloops.htm #1Bucles,oelartederepetirseunayotravez¿Dequénosocuparemos?Cómoutilizarbuclesparaevitarelretipeo.Diferentestiposdebuclesycuándoutilizarcadaunodeellos.Enelúltimoejercicioimprimimosunapartedelatabladeldoce,perotuvimosqueescribirbastante.Inclusosiquisiéramosextenderla,nosllevaríamástiempoyesfuerzo.Afortunadamentetenemosunamejormaneraderealizarestatarea,loqueasuveznospermiteconocerelverdaderopoderqueunlenguajedeprogramaciónnosbrinda.BuclesFORHaremosqueellenguajedeprogramciónefectúetodaslasrepeticiones,sustituyendounavariablequeseincrementaconcadarepetición.EnPythondeberemosusar:>>>foriinrange(1,13):...print"%dx12=%d"%(i,i*12)Nota1:Necesitamosquerange(1,13)especifiqueelvalor13yaquerange()generaunaseriedevaloresapartirdelprimernúmeroyhastaelsegundo,perosinincluirlo.Estopuedepareceruntantoextraño,peroobedeceaunarazónyunoprontoseacostumbra.Nota2:EloperadorforenPythonesenrealidadunoperadorforeachyaqueaplicalasecuenciadecódigosiguienteacadamiembrodeunacolección.Enestecaso,lacoleccióneslalistadenúmerosgeneradosporrange().Estopuedecomprobarsesitipeasprintrange(1,13)enlalíneadecomandodePythonytefijásquéapareceenlapantalla.Pero,¿cómofuncionaelprograma?Vayamospasoporpaso.Enprimerlugar,Pythonusalafunciónrangeparacrearunalistadenúmerosdel1al12.LuegoPythonhacequeiseaigualalprimervalordelalista,enestecaso,1.Luegoejecutalasinstruccionestabuladasconunasangríautilizandoelvalordei=1:print"%dx12=%d"%(1,1*12)AhoraPythonvuelvealalíneadelforyasignaalavariableielpróximovalorenlalista,estavezequivalentea2.Nuevamenteejecutaelcódigosangrado,peroahoraconelvalordei=2:print"%dx12=%d"%(2,2*12)Repiteestasecuenciahastaquehaasignadotodoslosvaloresdelalistaalavariablei.Cuandoestoseproduce,continúaconelsiguientecomandoqueestáenunalíneanosangrada�enestecasonohayningunainstrucciónporlocualelprogramafinaliza.VeamoselmismobucleenBASIC:FORI=1to12PRINTI,"x12=",I*12NEXTIEstoesmuchomásexplícitoysencillodeentender.Sinembargo,laversióndePythonesmásflexibleyaquenospermiteiterarsobreunaseriedenúmeros,itemsenunalistaoinclusocaracteresenunacadena.YenTcl:Tclusaunaconstruccióndelbucleforqueesmuycomúnenvarioslenguajes,modeladasobreC.Suaspectoeselsiguiente:for{seti1}{$i<=12}{incri}{puts[format"%dx12=%d"$i[expr$i*12]]}Nota:Laconstruccióntienetrespartes:unainicialización:{seti1}queseejecutaunasolavezalprincipiodetodoelbloque,unacomprobación:{$i<=12}queseejecutapreviaacadaiteración,yelincremento:{incri}queseejecutadespuésdecadaiteración.Elbloquedelbuclesolamenteseejecutasilacomprobaciónesverdadera.Cadaunadeestaspartespuedecontenercódigoarbitrariamente,perolacomprobacióndebeevaluarsemedianteunvalorbooleano(locualenTclimplicaceroonocero).Tcltambiénposeeunaconstrucciónforeachquepuedeaplicarsealistas.BuclesWHILELosbuclesFORnosonelúnicotipodeiteracionesdequedisponenloslenguajes.Yestoesmuyútil,yaqueparautilizarunbucleFORnecesitamossaberdeantemanooalmenospodercalcularelnúmeroderepeticionesquequeremosrealizar.¿Quéocurrecuandodeseamosqueserepitaunatareaespecíficahastaquealgosuceda,sinsaberexactamentecuándoseproduciráestehecho?Porejemplo,podríamosquererprocesarunaseriededatosdeunarchivo,peronosabemosdeantemanoquécantidaddedatoscontieneelarchivo.



11�04�07 http://www.freenetpages.co.uk/hp/alan.gauld/spanish/tutloops.htm #2Simplementedeseamosseguirprocesandolosdatoshastaquelleguemosalfinaldelarchivo.EstoesposibleconunbucleFOR,peroalavezesbastantecomplicado.Pararesolveresteproblemadisponemosdeotrotipodebucle:elWHILE.EnBASIC:J=1WHILEJ<=12PRINTJ,"x12=",J*12J=J+1WENDEstoproduceelmismoresultadoqueantesperoutilizaunbuclewhileenlugardeunfor.Notáquelaestructuraestáformadaporelwhileseguidoporunaexpresiónqueseevalúacomoverdaderaofalsa(¿recordás?).Silaexpresiónesverdadera,seejecutaelcódigoenmarcadodentrodelbucle.ExaminaremoscomoalternativalaversióndeTcl:setj1while{$j<=12}{puts[format"%dx12=%s"$j[expr$j*12]]setj[expr$j+1]}Comotedaráscuenta,laestructuraesmuysimilar,aexcepcióndelasllavesqueestánenlugardelWENDqueseutilizaenBASIC.¿Peroquéeseselíodentrodelbucle?¿TeacordásdelascadenasdeformatoenPython?Bueno,formateselequivalenteenTcl.Elsigno$jsignificaelvalordej(ynolaletra'j'!)yexprexpresa"calcularelpróximobitcomounaexpresión".LoscorchetesleindicanaTclquébitsdebeprocesarprimero.Tclesunalenguajeinusualentantoqueintentainterpretarelcódigoenunsolomovimiento,porlocualsinloscorchetesimprimiríalapalabra"expr"yalencontrarseconunaseriedevaloresnosabríaquéhacerydaríaunmensajedeerror.Porestarazóndebemosaclararlequedeseamosrealizarunasuma,luegoformatearlacadenayporúltimoimprimirelresultado.¿Confundido?Notepreocupes.Comodijeantes,Tclesunlenguajemuyextañoperoconunoscuantospuntosafavor.VeamosquéocurreconPython:>>>j=1>>>whilej<=12:...print"%dx12=%d"%(j,j*12)...j=j+1Llegadosaestepunto,elcódigodeberíaresultartelosuficientementeclaroycomprensible.Sóloquieroremarcarunacosa:¿notastelosdospuntos(:)alfinaldelcomandowhileydelforunaslíneasmásarriba?EstaconvenciónleindicaaPythonquealainstrucciónlesigueunaporcióndecódigo(unbloque).Lamayorpartedeloslenguajespresentanunmarcadordefindebloque(comoelWENDdeBASIColasllavesenTcl)peroPythonusaelsangradoparaindicarlaestructura.Estosignificaqueesmuyimportantesangrartodaslaslíneasconeltabuladordentrodeunbucle.Detodosmodos,estaesunabuenaprácticayaquefacilitalalecturadelprograma.BuclesmásflexiblesVolvamosanuestratabladeldocealcomienzodeestasección.Elbuclequeutilizamosallífuncionabienparaimprimirdichatabla,pero¿quépasasideseamosutilizarotrosvalores?¿Podemosmodificarelbucleparaquerealicelatabladelsiete?Paralograrestodebemosescribir:>>>forjinrange(1,13):...print"%dx7=%d"%(j,j*7)Estosignificaquedebemoscambiarel12porel7endoslugares.Yconcadavalornuevoquequerramosintroducirdeberemoscambiarelprograma.Pero,¿noseríamejoringresarelmultiplicadordeseado?Estaesunamejorsolución:reemplazamoselvalorenlacadenadelprintporunavariablealaqueasignaremoselvalordeseadoantesdecomenzarelbucle:>>>multiplicador=12>>>forjinrange(1,13):...print"%dx%d=%d"%(j,multiplicador,j*multiplicador)Esteesnuestraviejaamiga,latabladeldoce.Ahora,siqueremosproducirlatabladelsiete,sólotenemosqueasignarelvalor7alavariable"multiplicador".Fijatequeaquícombinamosunasecuenciadecomandosconunbucle.Primerotenemosuncomando,multiplicador=12seguidosecuencialmenteporunbuclefor.BuclesconbuclesLlevemosnuestropequeñoprogramaunpasomásadelante.Suponéquedeseamosimprimirtodaslastablasdemultiplicacióndesdeel2al12(ladelunoesmuyfácil,asíqueninospreocupamosporella).Loquedebemoshacerentoncesescolocarlavariablemultiplicadorcomopartedelbucle:>>>formultiplicadorinrange(2,13):...forjinrange(1,13):...print"%dx%d=%d"%(j,multiplicador,j*multiplcador)



11�04�07 http://www.freenetpages.co.uk/hp/alan.gauld/spanish/tutloops.htm #3Fijatequelasecciónsangradadentrodelprimerbucleesexactamenteelbuclequeestuvimosutilizandoconanterioridad.Estofuncionaasí:Asignamosamultiplicadorelprimervalor(2)yentramosenelsegundobucle.Luegoasignamoselpróximovalor(3)alavariablemultiplicadoryentraotravezenelbucleinterno,yasísiguiendo.Estatécnicaseconocecomobuclesanidados.Unpequeñoproblemaesquelastablassejuntanyquedanuntantodesprolijas.Podemossolucionarestocolocandounalíneadeseparacióndespuésdelprimerbucle:>>>formultiplicadorinrange(2,13):...forjinrange(1,13):...print"%dx%d=%d"%(j,multiplicador,j*multiplicador)...print"ôôôôôôôôôôôôôôôôôôô"Fijatequeelsegundoprintsealineaconelsegundofor,enrealidadeslasegundainstruccióndelbuclesecuencial.RecordáqueelsangradoylastabulacionessonmuyimportantesenPython.Tareaparaelhogar:¿cómoharíasparaqueenelseparadorseindiquecuáleslatablaquecontinúa?Unaayuda:necesitarásusarlavariablemultiplicadoryunacadenadeformato.OtrosbuclesAlgunoslenguajespresentanotrostiposdebucles,peroengeneralsebasanenunamezcladeforywhile.(Modula2yOberonsóloproveendeunbuclewhileyaquepuedensimularlosbuclesfor,comovimosmásarriba.Podésencontrarotrosbuclescomo:DO�WHILEIgualquewhile,perolacomprobaciónserealizasiemprealfinaldelbucle,porloqueelbloqueseejecutaalmenosunavez.REPEAT�UNTILSimilaralanterior,perolalógicadelacomprobaciónseinvierte.GOTO,JUMP,LOOPetcEstánpresentesenloslenguajesmásantiguos:colocanunmarcadorenelcódigohaciaelcualsaltandirectamente.PararecordarLosbuclesFORrepitenunconjuntodecomandosduranteunnúmerofijodeiteraciones.LosbuclesWHILErepitenunbloquedecomandoshastaqueseproduceunacondiciónterminal.Elcódigopuedenoserejecutadonuncasilacondiciónterminalseevalúacomofalsa.Existenotrostiposdebucles,perocasisiemprevamosaencontrarlosbuclesFORyWHILEenprácticamentetodosloslenguajes.LosbuclesFORenPythonsonenrealidadbuclesFOREACHyaqueoperansobreunalistadeitems.Losbuclespuedenanidarseunosdentrodeotros.AnteriorPróximaContenidoSitenéssugerenciasodudaspodésenviarunemaileninglésa:alan.gauld@btinternet.comoenespañola:manilio@xoommail.com


